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<AED > 700 1,500 A800
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216 0| Xt4=2] 42,800 48,400 5,600
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<AED > 42,800 48,400 75,600
D013 01K~ 1,070,000,000% * 4.0% 42,800
220 Y AIZKISI22 1,093,361 1,274,871 ~181,510
222 Y042 1,070,000 0 1,070,000
220-01 = HAHL0HS 1,070,000 0 1,070,000
<AED > 1,070,000 0 1,070,000
O &N 1,070,000,0008 * 14! 1,070,000
207 243 0,000 58,290 248,290
207-02 YBHRED 0,000 58,290 48,290
<AED > 10,000 58,290 £48,290
O 22 & - 55 JlBAa 223 10,000,008 * 14! 10,000
209 XILHA E 4l 13,361 0 13,361
229-01 KA T4 13,361 0 13,361
<AED > 13,361 0 13,361
O JIBAIERES 0/Z4%(2009E017) 13,361,0008 * 14! 13,361




